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QUESTION 1

Which two options can be used for vCenter Server 6.x database availability? (Choose two.) 

A. Microsoft SQL Server 2012/2014 AlwaysOn Availability Groups (AG) 

B. vCenter Server Watchdog 

C. NSX load balancer 

D. vCenter Server Heartbeat 

E. Microsoft Windows Server Failover Clustering 

Correct Answer: BE 

Reference: https://kb.vmware.com/s/article/1024051 

 

QUESTION 2

VMware vRealize Log Insight can be configured to send notification events to which endpoint? 

A. vRealize Configuration Manager 

B. vRealize Operations Manager 

C. vRealize Infrastructure Navigator 

D. vCenter Server 

Correct Answer: B 

Reference: https://docs.vmware.com/en/vRealize-Log-Insight/4.3/com.vmware.loginsight.administration.doc/GUID-
B22BCAC6-D1D5-40B3-931C-9F0FAA799D41.html 

 

QUESTION 3

Which type of network traffic is used for vSphere High Availability (HA) by default? 

A. Management network traffic 

B. iSCSI Port Binding network traffic 

C. vMotion network traffic 

D. VM Network traffic 

Correct Answer: A 

Reference: https://docs.vmware.com/en/VMware-vSphere/6.5/com.vmware.vsphere.avail.doc/GUIDB1906BCD-
E538-4FFF-AAE9-5403FE253F38.html 
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QUESTION 4

A vSphere administrator takes a snapshot before logging into a VM to preserve the current state in case of a problem. 

Assuming this process is repeated every day for over 30 days, what two results will happen? (Choose two.) 

A. The virtual machine\\'s performance will decrease. 

B. The virtual machine can end up consuming more space on the datastore than assigned. 

C. The administrator will have backups for the entire month. 

D. The administrator has successfully cloned the VM 30 times. 

Correct Answer: AB 

Reference: https://kb.vmware.com/s/article/1025279 

 

QUESTION 5

What describe a set of patches that meet certain criteria and will vary as the available patches change? 

A. Upgrade Baselines 

B. Fixed Patch Baselines 

C. Host Profiles 

D. Dynamic Patch Baselines 

Correct Answer: D 

Reference: https://pubs.vmware.com/vsphere-51/index.jsp?topic=%
2Fcom.vmware.vsphere.update_manager.doc%2FGUID-95A71727-B0FA-4144-9E572C41640047DD.html 
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